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N A VA = A # i1 il 2 K

Hh X £ 2 = i HH ] X it HH ] = &t HH
# A 13,996 14,580 28,576 12,883 575 690 1,265 836 14,571 15,270 29,841 13,489
= =} 1,430 1,509 2,939 1,153 5 17 22 15 1,435 1,526 2,961 1,157
=S = 3,139 3,329 6,468 2,651 60 80 140 104 3,199 3,409 6,608 2,723
F B 1,019 1,002 2,021 798 5 14 19 15 1,024 1,016 2,040 805
B & & 2,648 2,616 5,264 2,055 56 58 114 81 2,704 2,674 5,378 2,115
m H 3,043 3,070 6,113 2,738 57 89 146 112 3,100 3,159 6,259 2,802
B & b 2,796 2,816 5612 2,275 42 83 125 112 2,838 2,899 5,737 2,363
= = A 2,473 2,644 5117 2,216 14 27 41 34 2,487 2,671 5,158 2,226
£ #A 738 838 1,576 757 2 4 6 5 740 842 1,582 758
= Gl 31,282 32,404 63,686 27,526 816/ 1,062 1878 1314 32,098 33,466 65,564 28,438
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Hh A O i A O Hh A O H#h A O
R g | B % B e B gex | 8 [ £ | # #%|BE g | B [ & [ ¢  #ww|B gmR | B & |
il X 872 905 1,771 842 EEFHILEX 159 167 326 137 HERX 294 307 601 248 N — X 198 225 423 165
W F X | 1,251] 1,340 2,591 1,226 _ | it X 149 156 305 108 t #H X 341 312 653 276 INHZX 179 177 356 140
kR T X 231 258 489 268| = BHEK 116 137 253 106 R EBRX 273 288 561 214 L] INH=X 286 298 584 232
B H KX | 1,627 1,744 3,371 1,433 BHIAK 349 365 714 269 AERRX 15 71 146 68 IPHERX 666 681 1,347 640
BT X | 1,677 1,816 3,493| 1,653 b2 ih X 472 501 973 379 = B B X 344 352 696 262 = RE X 451 433 884 367
IR X 228 237 465 220 2 | R X 190 200 390 158 TEREX 404 415 819 286 E N 385 405 790 289
== 20 21 1 16 HERX 254 255 509 195 EH 2 X 348 327 675 251
F R X 56 58 114 47 X 5t | 1,435| 1,526| 2,961| 1,157 i REHEHX 398 363 761 305 pliy KX 237 241 478 211
U X 80 88 168 69 FIREX 138 132 270 111 BERX 86 83 169 64 T #H X 88 112 200 68
FIHTER 154 134 288 119 TREX 119 139 258 111 B B X 235 228 463 197
& X | 1,037 1,106 2,143 1,009 mE X 188 199 387 140 #h X 5t | 2,838 2,899 5,6 737| 2,363
8 & X | 1,137 1,176 2,313 1,009 % FXRERX 232 258 490 192 X 5t | 2,704 2,674| 5,378| 2,115 5 = 855 887 1,742 740
B X 1,116 1,119 2,235 920 XILERK 393 491 884 442 - £ B 330 354 684 297
mEeE X 860 926 1,786 876 FERX 311 304 615 244 REHFHEK 274 265 539 201|™| = % 120 115 235 116
EHHRKX 515 505 1,020 542 === 174 164 338 120 & 1y i =3 132 149 281 124 % R 320 339 659 329
T#HHRK 127 150 271 131 TEX 306 330 636 257 ORI =3 416 398 814 345[s= | Al [£3] 862 976| 1,838 744
F #® X 830 872 1,702 7126 FIFERX 613 672| 1,285 489 =l 134 131 265 98
B BFERX 206 192 398 175 & THFEX 456 457 913 415|% |/ K 315 346 661 269 Hh X 5t | 2,487 2,671 5,6158| 2,226
B E X 544 566 1,110 483|7  HEBE X 193 174 367 135 & X 169 182 351 141 JE W 78 93 171 74
ERF X 487 482 969 421 A X 76 89 165 67 5 #h X 118 144 262 120 E B 271 342 613 322
AR X 422 111 833 325 i K& X | 1,484 1,492| 2,976/ 1, 451 #& 0 181 204 385 152
2 E X 200 260 460 229 H X £t | 3,199] 3, 409| 6, 608| 2, 723 " Er R 58 52 110 BIE 2K 65 65 130 55
ZE R 4t BT 43 38 81 31 === 35 38 73 42
I = 63 68 131 57 (= 286 260 546 215 H X &t | 3,100 3,159| 6, 259| 2, 802 N H B #§ 75 67 142 68
FoERRX 788 798 1,586 662 F }FORX 376 373 749 298 = ¥ B 28 32 60 38
TFREX 216 244 460 177 SH 7 1 8 7
H X Et |14,571|15,270] 29, 841|13, 489 B J\F X 146 139 285 115
X 5t 740 842| 1,582 758
X 5+ | 1,024| 1,016| 2, 040 805 FEIFAEt | 32,098|33, 466| 65, 564 | 28, 438




